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➤

I J 4 97 9 8 9: ; T : ; 6 4 Ui(s) = 0

�? A 4 : = J > 8: 84 st

➤

�7 4 9 84 A : 8 9? 7 > 84p w = : ; ; 4 N : � 2 . .� �0 + � © � - 2 w 9> N 4 �7 4 N C G

Ui+1(s) = R(s)+ γmax
a ∑

s′
T (s,a,s′)Ui(s

′)

�? A 4 : = J

i ≥ 0 : 7 N �? A 4 : = J > 8: 84 st

➤

I J 4 �? ; ; ? � 97 L Xa W � Y` ] X Yg` [ g` h Y X Yg` 9> 6 > 4 N C G 8 J 4 : ; L ? A 9 8 J DU

max
s

|Ui+1(s)−Ui(s)| <
ε(1− γ)

γ

t
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➤

E: ; 6 4 9 84 A : 8 9? 7 4 T 47 8 6: ; ; G= ? 7 T 4 A L 4 > 8? : 67 95 6 4 > 4 8 ? � > ? ; 6 8 9? 7 > ? �

8 J 4 M 4 ; ; D : 7 45 6 : 8 9? 7 >t

➤

I J 4 M 4 ; ; D : 7 6p N : 84 9> : � ¨ 0 -¦ � � -/B¨ 0 C G : �: = 8? A ? �

γ ? 7 6 8 9 ; 9 8 G

T 4= 8? A >U max
s

|Ui+1(s)−U(s)| ≤ γmax
s

|Ui(s)−U(s)|

�? A : ; ;

i ≥ 0t

�c� �� � . 2�� 
? A 8 J 4 >5 6: A 4 �? A ; N w T : ; 6 4 9 84 A : 8 9? 7 = ? 7 T 4 A L 4 > : > �? ;;,? �>U
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➤

� 9T 47 > 8: C 9 ; 9� 4 N 6 8 9 ; 9 8 GT : ; 6 4 > Ui+1(s) = Ui(s)w 8 J 4 = ? A A 4 >p ? 7 N 97 L

g i X Y� ] ^ i g ^ Y [ ° π∗= : 7 C 4 N 4 84 A D 97 4 Nt

➤

�7 �? A 8 67 : 84 ; Gw 9 8 9> N 9 �= 6 ; 8 8? 4 > 8 9 D : 84 J,? � ;,? 7 L 8 J 4 T : ; 6 4

9 84 A : 8 9? 7 : ; L ? A 9 8 J D > J,? 6 ; N C 4 A 67 8? L 4 8 : 7 ? p 8 9 D : ;p ? ; 9= Gt
➤

K ; 84 A7 : 8 9T 4 ; Gw p ? ; 9= 9 4 > = : 7 C 4 4 T : ; 6: 84 N 6 > 97 L �¨ ./ � 	 .¨ § §w 9t 4t w 8 J 4

N 9 �4 A 47 = 4 ? � 4O p 4= 84 N 6 8 9 ; 9 8 G � 9 8 J A 4 >p 4= 8 8? 8 J 4 ? p 8 9 D : ;p ? ; 9= Gt
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➤

I J 4 ? p 8 9 D : ;p ? ; 9= G 9> ? � 847 7 ? 8T 4 A G > 47 > 9 8 9T 4 8? 8 J 4 6 8 9 ; 9 8 GT : ; 6 4 >t

➤

I J 4 C: > 9= 9 N 4 : 97 �¨ ./ � 	 / - 2¦ � -/B¨ 0 9> 8? = J ? ? > 4 : 7 97 9 8 9: ;p ? ; 9= G π0 w= : ;= 6 ; : 84 6 8 9 ; 9 8 9 4 > 6 > 97 L π0

: > p ? ; 9= G : 7 N 6p N : 84 π0

�A 4p 4 : 84 N ; G �t

qt �¨ ./ � 	 2 ¬ � .+ � -/B¨ 0 U 8 J 4 6 8 9 ; 9 8 9 4 > ? � > 8: 84 > : A 4 N 4 84 A D 97 4 N 6> 97 L πi: 7 N 8 J 4 > 9 Dp ; 9 � 4 N M 4 ; ; D : 7 6p N : 84 �? A j ≥ 0U

Uj+1(s) = R(s)+ γ∑
s′

T (s,πi(s),s
′)Uj(s

′)t

K7 ? 8 J 4 A p ? > > 9 C 9 ; 9 8 G 9> 8? > ? ;T 4 6 8 9 ; 9 8 9 4 > N 9 A 4= 8 ; G �A ? D 8 J 4 > 9 Dp ; 9 � 4 N

M 4 ; ; D : 7 45 6 : 8 9? 7 C G > 4 8 8 97 L Uj+1(s) = Uj(s)t

¯t �¨ ./ � 	 / � �¦ ¨ ¬ 2� 20 -U : 7 4 � �® �p ? ; 9= G πi+1

9> = : ;= 6 ;,: 84 N

� 67 8 9 ; πi+1 = πi

� 6 > 97 L 8 J 4 6 8 9 ; 9 8 GT : ; 6 4 > C: > 4 N ? 7 πit
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�c� �� � . 2�� I J 4 6 8 9 ; 9 8 9 4 > ? � > 8: 84 > (3,2) : 7 N

(3,3) : A 4 > ? ;T 4 N : > �? ; ; ? �>U







u(3,2) = −0.04+0.8u(3,3) +0.1u(3,2)−0.1

u(3,3) = −0.04+0.8+0.1u(3,3) +0.1u(3,2)

=⇒







−0.8u(3,3) = −0.9u(3,2)−0.14

8.1u(3,3) = 0.9u(3,2) +6.84

=⇒ u(3,3) = 6.7
7.3 ≈ 0.918 : 7 N

u(3,2) =
0.8u(3,3)−0.14

0.9 ≈ 0.660t
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K= ? Dp A 4 J 47 > 9T 4 :p p A ? : = J 8? : L 47 8 N 4 > 9 L 7 �? A p : A 8 9: ; ; G ? C> 4 AT : C ; 4 w

> 8? = J,: > 8 9= 47 T 9 A ? 7 D 47 8> 9> C: > 4 N ? 7 8 J 4 �? ; ; ? � 97 L 4 ; 4 D 47 8>U

➤

I J 4 8A : 7 > 9 8 9? 7 : 7 N ? C> 4 A T : 8 9? 7 D ? N 4 ;,> : A 4 A 4p A 4 > 47 84 N : > :

©	 0 �� / � � �	 2 §/ �0 0 2 -� ¨ ¦ « �< M S �t

➤

I J 9> D ? N 4 ; 9> 4 O 847 N 4 N � 9 8 J N 4= 9> 9? 7 : 7 N 6 8 9 ; 9 8 G7 ? N 4 > w : > 97

© 2� / §/B¨ 0 0 2 -� ¨ ¦ « §�w 8? �? A D : ©	 0 �� / � © 2� / §/B¨ 0 0 2 -� ¨ ¦ « �< < S �t
➤

K Z ^ Xa W Y` b ] ^\b g W Y X j\� 9> 6 > 4 N 8? 97 = ? Ap ? A : 84 4 : = J7 4 �p 4 A= 4p 8 : 7 N

: = 8 9? 7 w : 7 N 8? 6p N : 84 8 J 4 : L 47 8 � > 4 > 8 9 D : 84 ? 7 8 J 4 = 6 A A 47 8 > 8: 84t
➤

< 4= 9> 9? 7 > : A 4 D : N 4 C G i W g �a [ X Y` b �g W� ] W hp ? > > 9 C ; 4 : = 8 9? 7

> 45 6 47 = 4 > : 7 N= J ? ? > 97 L 8 J 4 C 4 > 8 ? 7 4t
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I J 4 L 47 4 A 9= > 8A 6= 8 6 A 4 ? � : N G7 : D 9= N 4= 9> 9? 7 7 4 8 �? A P 9> : > �? ;;,? �>U
DtDt−1

tR

E t

X t

t−1R

E t−1

X t−1

Dt−2

X t+1

Rt+1

E t+1

Dt+1

X t+2

Rt+2

E t+2

Dt+2

X t+3

E t+3

t+3U

➤

I J 4 8A : 7 > 9 8 9? 7 D ? N 4 ;

T (st ,a,s′)

9> 8 J 4 > : D 4 : > P(Xt+1 | Xt ,At)� J 4 A 4 At

N 47 ? 84 > 8 J 4 : = 8 9? 7 : 8 8 9 D 4 tt

➤

I J 4 ? C> 4 A T : 8 9? 7 D ? N 4 ;
O(s,o)w � J 9= J N 4 �7 4 > 8 J 4 p A ? C: C 9 ; 9 8 G ? �

p 4 A= 4 9T 97 L 8 J 4 ? C> 4 A T : 8 9? 7 o

97 > 8: 84 sw 9> 8 J 4 > : D 4 : > P(Et | Xt)t
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➤

K ¨ � -/ � � . �¨ ./ � 	 : > > ? = 9: 84 > : 7 ? p 8 9 D : ; N 4= 9> 9? 7 � 9 8 J 4 T 4 A G > 8: 84

8 J,: 8 8 J 4 : L 47 8 D 9 L J 8 A 4 : = Jt

➤

� � .+ 2 / - 2¦ � -/¨ 0 : 7 N �¨ ./ � 	 / - 2¦ � -/B¨ 0 : A 4 8 �? D 4 8 J,? N > �? A

= : ;= 6 ; : 8 97 L ? p 8 9 D : ;p ? ; 9= 9 4 >t

➤

�7 C? 67 N 4 N : = 8 9? 7 > 45 6 47 = 4 > = : 7 C 4 N 4 : ; 8 � 9 8 J © / §� ¨ + 0 -/10 �t

➤


	 0 �� / � � �	 2 §/ �0 0 2 -� ¨ ¦ « §= : 7 J,: 7 N ; 4 > 47 > 97 L : 7 N 6p N : 8 97 L

? T 4 A 8 9 D 4 w : 7 Np A ? T 9 N 4 : N 9cA 4= 8 9 Dp ; 4 D 47 8: 8 9? 7 ? � 8 J 4 6p N : 84

= G= ; 4t

➤


	 0 �� / � © 2� / §/¨ 0 0 2 -� ¨ ¦ « §= : 7 > ? ;T 4 > 45 6 47 8 9: ; N 4= 9> 9? 7

p A ? C ; 4 D > : A 9> 97 L �? A : L 47 8> 97 = ? Dp ; 4 O w 67 = 4 A 8: 97 N ? D : 97 >t
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qt Q4= : ; ; 8 J 4 C 4 ; 9 4 �7 4 8 �? A P 8 J : 8 G? 6 N 4 > 9 L 7 4 N �? A A 4p A 4 > 47 8 97 L 8 J 4

C: ; ; 8A : = P 97 L D 4= J : 7 9> D ? � : > ? = = 4 A p ; : G 97 L : L 47 8t

➤

F > 9 8p ? > > 9 C ; 4 8? 9 N 47 8 9 � G : > 8: 84 4 T ? ; 6 8 9? 7 D ? N 4 ; : 7 N : > 47 > ? A

D ? N 4 ; �A ? D G? 6 A 7 4 8 �? A P �

➤

F �7 ? 8w A 4= ? 7 > 8A 6= 8 8 J 4 7 4 8 �? A P C G P4 4p 97 L 8 J 4 > 4 97 D 97 Nt

¯t o? 7 8 97 6 4 8 J 4 : 7 : ; G> 9> ? � > ? = = 4 A p ;,: G 97 L : L 47 8>t

➤

o: 7 G? 6 9 N 47 8 9 � G ? 8 J 4 A p A ? C ; 4 D > 97 8 J 9> N ? D : 97 8 J : 8= : 7 C 4

= ? 7 > 9 N 4 A 4 N : > A 4 : ; > 45 6 47 8 9: ; N 4= 9> 9? 7 p A ? C ; 4 D > �

➤

IA G 8? �? A D : ; 9�� 4 > 6= J : p A ? C ; 4 D : > : N G7 : D 9= N 4= 9> 9? 7 7 4 8 �? A Pt
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